THOEERMT ETKEERERTEALGR

(&8 Hitk)

A fl B B |SM6ESHA14B0CN) FRT1085005 ¥ 7€ ffi 4% 51,361,000
At EES |BREFE1008F TRAEE ML 46,401,063
I = £ |2reEssslIn]mEsiEciREz BRekenasTs A+LEE
I =15 |BMNTIRESEFE/N\BHitAEH, b £1E F20E £330 LS
I =7 3 |/K&E 1| () BT &R fa sk 52,000,000
R 2[RERE )
ITEHME ;’:”?ﬁ*ﬁé”g 1%3?)? - 3|RBRER (%) 51,500,000
HKE I 5] -
#;F;kl ARSFR = 4| B )ERIETT % (%) 1B
T=EYE | L TKESHKERIER 5| R EER (%) 50,500,000 %L
28 5 %k [EEREANLEAFLMEGHEE) 6|(A)KEBEILXE iR
8 & & H 1208 555 mME16FE) 7| THRERER (%) 51,900,000
e g ogm g |NTERSIEHEAAREREBEE OKEE 8| iR A% i T 3 (#%) 51,000,000
R (EMmER) AIR) o[tE B EEER (B) 50,950,000
[ D NE] 10[EFREK (%) 51,700,000
.-m.ign. A ‘E N _
B DAEE s i’l%L x#szt?ﬂi_*ﬁ 11 (Ha)ilfa_tja 51,500,000
BEFRBEINHIRESF b/ K222 i1 12((A)EREE 52,000,000
2HEAR EEEEFL) TH] 13|(A)ERER iR
R6.521 14[(B) L4544 51,100,000
=n R6.5.20 55,550,000
= i ~R6.10.27 15| (#R) RV A7 52,200,000
F1EER R6.10.25 ~R6.12.9 16[7KRA R (¥k) 52,000,000
BTRMMISTAEO N MRET Y, a5 || 7| FARIEL S 51,900,000
FEER |[THELOIRABRADELLGSI=CEND, THIZIE || 18| (B EIRIER R
BI2L0, 10| () 7 — LR R {EHESE 51,700,000
F2EEE R6.12.6 | | ~Rre.1223 || 20[(H) 74~ 51,600,000
21
o KEBARRIZHEN, EBELOREICTAD BEE
ERBE m0iihs THELETHL0, 22
23
$3EER R6.1220 | 2,425,500| 24
FUAIHSHRLAKIELCEpESER-E || 20
ZHEEMR (REE. F-EHEEICHESKKEDNBEIRUEE || 26
HEDERIZLS, 27
ETERDFELE IR | 57975500 | 28
29
30

E) AFLBEICHZEDI0%ICHETHEREMELLEENZR LOALMEELYES,




